Fermator

INDEX
e Frames assembly .......oooeeeiiiiiicii 2
* Track / sill support steel assembly .........ccccccevvviiiiieeinnnnen. 3
e Mechanism assembly ........ccccccvveeeiiiiiiic e 4
e Fixing framestowall ..o 5
« Details of fixing the frame square towall...............c..cc...... 6
e« Assembly of panels ..o 7
e Panels adjustment ... 8
 Adjustment of the door panels ..........cccveeeveiiiiiieieiinineenn. 9
» Assemby of the door spring CloSer ..........cccccoovviiieieeinninnen. 10
e LoCK adjuStment .........cuvveviieeeeiieieee e 11
« Adjustment of lock with the skate ...........ccccvevevevieeieeennnnnn, 12

2 PANELS SIDE OPENING DOORS (LANDING DOORS 1
( ) << INDEX (@) >>



Fermator

FRAMES ASSEMBLY

M8, frame solders

Detail A: Frame fixing to mechanism.

Detail B: Frame fixing

M8

®

1 1=

_ oo
=
Z
©
w
.

Detail A
P
(a3
&
|
Slam post
\.
N
Return post
§ +— | Detail B~
Y -
[
|
\ |«

NOTE:When the frame is assembled,
before completly tightening, check
that the diagonal measurements
(A and B), are equal.

2 PANELS SIDE OPENING DOORS (LANDING DOORS)
—

2
<< INDEX (@) >>



FermCII:or TRACK / SILL SUPPORT STEEL ASSEMBLY
.|

Track/sill support steel to sill fixings.

M8x15 DIN-933

Lateral fixing of the track/sill
to the frame post.
(The fixing is the same on both posts).

@8 DIN-933
M8x15 DIN-933

2 PANELS SIDE OPENING DOORS (LANDING DOORS) =T 3
S << INDEX (@) >>



Fermator

M8, frame

solders

MECHANISM ASSEMBLY

Connection of mechanism to frame.

First place the interlock rod into the angle
bracket fitted to the emergency release unit.
Fit the track assembly into screws A, then
swing the track assembly into screws B.

Lintel

Tighten nuts.

M8, threaded stud

M8 (DIN-934)

Slam post %
7 O e
dig M8 (DIN-6330-B)
S Mechanism
} I // M8 (DIN-934)
l«a
: > l”" “a’@
2 PANELS SIDE OPENING DOORS (LANDING DOORS _ 4
( ) << INDEX (@) >>



FIXING FRAMES TO WALL

Fermator

%9 7 oge[" ove 7 S8 73%«4 m
154 T
S = 2
L o
: 00 £
£ ®
I} —— [&]
9 o
5 Y £
Kyl P =
= = i 2=
.. ©
wf, | < T 2
Tﬂuuuur “ ! [ — nk.v o
w TS0 s — — 4@ @®© -
i % 5t
o
a
25
X 3
RS L =
R\ i 2
\ la Wiem —
v = © %
o5
[m)

1S

IS

o~

= \

= T

— )

g WYazaz2) ERRYo/~ /)

s e e

£ NN A
AN A%

3 RN N

<}

I

5

<< INDEX @ >>

7

=

2 PANELS SIDE OPENING DOORS (LANDING DOORS)



Fern'ICII:or DETAILS OF FIXING SQUARES TO WALL
|

f Dimension A: ‘ A
M12x60 1 P. Side Opening: 100 mm \

(DIN-529) 2 P. Side Opening: 135 mm

3 P. Side Opening: 180 mm
l 4 P. Side Opening: 225 mm

M8 (DIN-934)
18 (DIN-9021)

-~ O
[S)
9]
) |
(@)
|
\\\\ - ] 20/
4
7 g
Pl 80x 13 4
A A
25x13 00 60
400 g 60 x 13 4 60 x 13
90 90
MODEL A MODEL B MODEL C

6
2 PANELS SIDE OPENING DOORS (LANDING DOORS) << INDEX @ >>



Fefn'lqtor ASSEMBLY OF PANELS
.|

Detail C: Fitting flame stop angle. M8 (DIN-6923) M8 x 20
There should be an overlap of 5 mm
between the slow panel and fast panel
as shown in detail C.

Detail A

CORRECT

M10 x 50
Detail A: M10 (DIN-6923)
Door panel —
fixing to the hanger.
¢ M8 x 15
(DIN-933)

s

Door bottom
shoe fixing.

28 mm

§ % Detail B

2 PANELS SIDE OPENING DOORS (LANDING DOORS) = << INDEX @ >> 7




Fefn'lqtor PANELS ADJUSTMENT
.|

Panel adjustment:(With the doors fully open). When the slow panel

is suspended on the hanger move it until it remains on flush with \
the front edge of the return post. Tighten the nuts that hold \@
the hanger to the suspension bolt. Adjust the panel by
means of the nuts (B) on the suspension -
bolt until the panel is completely p
parallel to the return post.
Also check that there is

a distance of 5 mm
between the sill
and the bottom o
the door panel.

Do the same with
the fast panel.

RETURN POST

T — — T — T T — 15 15
_5‘ A_’5
(@)
jamil jimal ‘
5 mm

8 D —

ol I ?

2 PANELS SIDE OPENING DOORS (LANDING DOORS) =L << INDEX @ >> 8



FGf“'\CltOr CORRECT ADJUSTMENT OF PANELS
.|

CORRECT INCORRECT
= e

The panel positions are correct when they slide parallel to the sill/track. if for any
reason the panels do not slide smoothly follow these instructions:

1st.: Take out the door bottom shoes.

2 PANELS SIDE OPENING DOORS (LANDING DOORS) << INDEX © > 9



Fef mator ASSEMBLY OF DOOR SPRING CLOSER
.|

Detail "B"

Detail "A"

M8x35 DIN-933
DIN-125

M8 DIN-6923

Detail A:
By means of the 18,25 quarter holes you can adjust
the amount of tension in the door closer spring.

10
2 PANELS SIDE OPENING DOORS (LANDING DOORS) << INDEX @ >>



Fefmﬂtor ADJUSTMENT OF LOCK

. dmm
CONTACT SUPPORT e g '
LOCK BEAK B

\\\
RUBBER STOP [

/=, Screws M8 (A):
'\\//‘ Adjustment of lock beak

oI

!

M

M6 x 15 (DIN-603)

Place the rubber stop in the beak.
Support & adjust so that the beak
remains in the horizontal position when

Using the two screws (M8) adjust locked. Then adjust rubber stop (B) mb
the lock beak until the centre of leaving sufficient clearance for the beak
the pivot pin is 100 mm from the to clear the lock when opening.

leading edge of the hanger.

2 PANELS SIDE OPENING DOORS (LANDING DOORS : 11
( ) << INDEX (@) >>



Fermql:or ADJUSTMENT OF LOCK WITH SKATE
.|

Screws M6 (B): Lock / hanger adjustment

By means of 2 screws M6 (B), adjust
the centre line between the lock rollers
to 145 mm from the leading edge of
the hanger.

Once the lock/hanger has been adjusted so

that the centre line between the lock rollers Y
are 145 mm from the leading edge of the
hanger, check that the skate passes centrally
between them.

2 PANELS SIDE OPENING DOORS (LANDING DOORS : 12
( ) << INDEX (@) >>



Fermator

ATTENTION

Itis advisablethat in the process of maintance of the door, the following
points should be carried out in order to asseure the correct functioning
of the installed operator:

1st) NEVER grease the ugides or rotation rails as the dirt and dust
forma a thick layer of grease that stops and obstructs the movements
of the panels.

2nd) The rotation wheel, if dirty, produces the same negative effect
as above mentioned and free of objects of any kind in sliding guide to
avoid any possible interferences that could stop or block the panels.

3rd) Maintain the inside of the aluminium tread clean of the sliding
canals in order to avoid possible interfences that slow down or block

the panels.
NECESSARY TOOLS
» Spanners: 2x8/2x10/13/17/19/24.
* Tubular Wrench: 10/13/17.
» Hexagonal allen wrenches: 3/4/5/ 6.
* Screwdrivers: 1 Philips.
1 standard.
lof regleta.
« Pointed pliers for elastic rings.
* Level.
* Plumb bob.

* Nylon mave.

2 PANELS SIDE OPENING DOORS (LANDING DOORS) EQ:»’ << INDEX @ 5>



	2 Panels Side Opening Doors (Landing Doors)
	Frames assembly
	Track /sill support steel assembly
	Mechanism assembly
	Fixing frames to wall
	Details of fixing the frame square to wall
	Assembly of panels
	Panels adjustment
	Adjustment of the door panels
	Assembly of the door spring closer
	Lock adjustment
	Adjustment of lock with the skate
	Attention


	menu: 


